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109117 p kR kFHZHREHE? 3 |d 5w [AZ 2~ 385 <1 0.10 ] <5 ND 3. 50 140 1.2 &
109117 p kR kRS HE? 3 |45 % |[LF %> 3605 <1 0.10 ] <5 ND 3.21 137 1.2 &
109& 112 p Rk kFHZHEHEY 3 |AF % |[LFFITEEDRE <1 0.10 | <5 ND 1.02 116 7.5 i
109& 112 p Rok-kHHesmEHEP 3 |AF % |LAMET 4155 305 <1 0.10 | <5 ND 1.06 135 7.4 £
109F 11" p R-k-kREHZHREHE? 3 |d5 % (% 22 2456785 <1 0.05 | <5 ND 1.03 122 7.5 i
109 11" p KRR FHFHSEHE? 3 [FTAA% [P 2 2 7 foiEbi 85 <1 0.15] <5 ND 4. 28 43. 2 i
109112 p kk-kHFHhFHEHE? 3 |35 |12 S HELH]193-152 <1 0.15] <5 ND 4. 38 42. 2 7.1 i
109F 117 p k-R-kEHZHEHE? 7 |37 % [ B 2 #3275 <1 0.15] <5 ND 4. 26 41.2 6.9 i
109 11" p KRR EHFHREHE P 3 |37 % (37422 P foiEd608%0 <1 0.15| <5 ND 4. 30 44. 2 i
109 11" p R-R-KFHeHREHE " 3 [FTAL®|FTAE®RY & 2 ¢ {oidEhE 5850 <1 0.15 | <5 ND 4.27 42.2 6.8 i
109&12% p K-k kRS HE 3 |26 % [P 041505 <1 0.15] <5 ND 0.54 135 8.0 i
109F 12" p K-k REFHEHREHE? P |22 % (4 7 = 25 <1 0.05 ] <5 ND 0.13 159 8.0 i
109# 127 p KRR EHRZBEHE? F | 2R F([E5- K12005 65 <1 0.10 ] <5 ND 0.52 131 1.7 i
109# 12" p R-R-kFieEHE P 3 [dAF " |32 A Mg &3 5 <1 0.10 | <5 ND 3. 68 141 7.1 £ ¥
109#12% p Rk ki EHE? |45 5|7 B2 2 FE8E <1 0.05| <5 ND 3. 67 139 7.1 i
109# 127 p kok-k s EHE? 3 |45 %7 221 - 8350 <1 0.05| <5 ND 3. 63 137 7.1 i
109#12% p k-k-kFHzkEHE? » |d$ 5|7 221 - 65 <1 0.10 ] <5 ND 3.61 140 7.1 &
109& 122 p R-k-k e HE P 3 |dF 5[4 22 < 36650 <1 0.05 ] <5 ND 3. 66 138 7.1 &
109#12°% p KRR FHFZENHE? 3 [AFFH |42 2 i 13850 <1 0.15] <5 ND 3. 71 139 7.1 i
109&12% p kKR FS&E2ENHE? 3 [AF % | L ® 78 EHSH <1 0.10 | <5 ND 3. 72 138 1.2 i
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